b 22 BE 9 s B o0

B g2 g 4

B - =F=H
I 515
RERFEHEBRERE X FEEIHEEBFZEGSEH
Mt 22 BE W) e 28 o o0y (R B o0y ) BV R S O N B S R B 0
MIRIEE 2GR -

W

II. BEERBEREE

e B 0 JH LR P5 Y B RS O 0 8 e A IR B - he & T AE
(SECT

— TSR PERZ B
—  JEEHRRAY B
—  KRBER Z[E G Y)Y BE R

AHEH N E T RHREERRERE > 2T =F=H
AYIREE R &SR - JE I MR AR NG RBAEZEFRHER - R -2
=y BB R 5 /K BRI~ 1 B A e 48 7R 8 1R 2 ] A BE ) B i Y s 0 45
H oo

W

III. IR EREE

75 7K HE I

Je B PO R B AR B P EE AR WY U5 K R & VAP R B EINET Y
SR RETRIR - EE PO EYEE AR R T REEE AR
MEPRISAKIEE > FTARERYIIEAZE TR - 5 8% H5KHN
RoAEMBEENE  FEIFHES  WARKTHYERFI -

W 5 175 7K 02 o3 L PRI AY - B — L AT Ot &4 b ik e B o3 A > WL
T ETRR MR A & & AR -



fE 5] HF 4R

AL Z 40 Y B SR HR I 2 58 B Y B B e B HNAR Iy 8 V) B 220 TR AR
AL EE > WATEBmERE -

PEAL N o] i S B 2 B A B A Z 450 R OR PR BE RLOH Bk 22
ROTARVIA B EE B - 4 LR ERFH U B B X Y &
FoMEREENAGBRTE LR BERERSBOEL  FEEFH
&k B 2 AL -

TR E & 2 [E]#G BE Y

RETLOAMELFRERRMGVERCERE - LEREKVE
EE B2/ S REEAE  KRER ZERGREY G EBEME NG K —HS
T EEHEER I EXRFMHEFREEER -



KRB RS (2 =F=H)

L 22 W) e BE 0

S8 2 i PR & 8 FaRE
3 (B/E)

% g [ 6-10 7.5-8.8 8.0 =
FHEE (me) 100 <30-33 32 =
BRI E (mg/) 10 3.0-4.0 3.6 =
MY HEE (mg/) 2,000 290 — 1693 724 g
WM& E (mg/) 10 <0.5 <0.5 =
fLYHEE (mg) 0.1 <0.04 - 0.043 0.041 ik
O ERREE (me/) 100 16 - 31 24 =
HHE  (mg/) 20 <10 <10 =
48 s (mg/) 0.5 <0.3 <0.3 =
R R E (mg/) 1 <0.6 <0.6 =
FHEMER] (mg/l) 15 <7 <7 pss
EEFEE (mg) 2, 000 185 - 630 364 &
AR E (mg/)) 200 <20 - 36 26 =
g (0 43 21-23 22 I
7Y E (me/) # - - - -
EEESBE

B (mg/l) 2 <0.4 <0.4 =
2 (mg/) 5 <1 <1 =
] (mg/l) 0.1 <0.1 <0.1 =
% (mg/) 1 <0.3 <0.3 A
3 (mg/l) 2 <0.5-0.84 0.68 yocs
#5  (mg/) 2 <1 <1 A
§m  (mg/) 5 <0.2 <0.2 2
7K (mg/l) 0.05 <0.05 <0.05 =
$8 (meg/D) 2 <1 <1 =
R (mg/) 2 <0.4 <0.4 A
% (mg/l) 5 <1 <1 A
#  (mg/) 2 <1 <1 A
BHEEEEH (m2)) 10 <7.0-73 7.2 I
W (mg/) 5 <1 <1 2
#  (mg/l) 10 <2 <2 =




2 ¥ 22 1l PR SES 15 8 FERE
J& (B/&)

BB
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AKX LT (mg/) 0.01 <0.01 <0.01 =
FEZEEAEY
KEE (mg/) 0.1 <0.06 <0.06 =
EEEiaew
1,1,1- =& Z l5E (meg/) 0.05 <0.025 <0.025 =
E4 0
% &5 7K 42 & (me/) 0.003 <0.003 <0.003 =
A Y E #
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EHREHEERBERGE (ZE_=4F=H)
28 22 1l R & GERC EHE | FERE
(FEmr =) © (/&)

(B =+sre@pigE @
for  (kg/0.5h) 0.58 0.00-0.18 0.01 pss
“&ALHE (ke/0.5h) 3.86 0.00 - 1.82 0.10 =
B % (ke/0.5h) 1.16 0.00 —0.22 0.03 pss
#AbE (kg/0.5h) 0.08 0.00 - 0.00 0.00 =
ALY
(L= & 16 & 5 &) 7.71 0.48 - 2.95 1.66 =
(kg/0.5h)
HaF MR (ke/0.5h) 0.39 0.00 - 0.06 0.00 =
— & (BB (kg/0.5h) 1.93 0.00 - 1.15 0.09 T
(Z) HigfE ©
AL (kg/day) 9.25 0.03-0.13 0.07 pss
“E AL (kg/day) 46.27 0.48 - 6.62 3.67 pss
EiE%E  (ke/day) 9.25 0.25-1.62 0.80 pss
#FAbE (ke/day) 0.93 0.00 - 0.00 0.00 pss
ALY
(L = & 16 & 5 &) 185.06 11.35 - 76.66 49.05 =
(kg/day)
A bk (kg/day) 9.25 0.03-0.11 0.07 =
— &AL (kg/day) 46.27 0.48 - 2.89 1.69 pss
() HAt

S8 22 1l R & &R FaRE

(FEme %)@ (/&)

= = AN
igj%%%%g;%) (ke/h) 093 0009 =
BNBALEY
(MAm s & &85 5H) 0.73 < 0.004 =
(kg/h)
BE & (DABR B% 51 5 (ke/h) 1.45 0.049 pss
RO R) (ke/h) 0.21 <0.006 =
R RORALE (ke/h) 0.19 < 0.004 =
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(FEme %)@ (/&)
EEsBE 8 Y:

:ﬁ;ﬁf% (B —BOMEE | 010 <0.0003 o
EBESBE_E :

fif (kg/h) 0.0023 <0.0001 =
BB BN EE ~
(ke/h) 0.019 < 0.0020 =
7 (kg/h) 0.0019 <0.0001 g
T (ng/h) 2,891 99 =
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KIBE®R ZERBEYEBEGE (ZE_=4=H)
S8 22 1l R & &R 19 8 FaRE
(/&)

£—Ea

B 1l [ (7K) (%1&8@@ 12.2-125 12.3 =
ERESE D) | g epe| 887 76 7
EEESBE

#% (ppm) 0.5 <0.5 <0.5 pss
7k (ppm) 0.1 <0.02 - 0.063 0.021 =
P48 & (ppm) 10 <0.5-3.6 0.6 =
$i  (ppm) <05-7.6 1.2

## (ppm) <0.5 <0.5

#5 (ppm) <1-28 1.1

# (ppm) <0.5-1.3 0.5

B~ B8~ B~ $EHY <2.5-96 3.3 .
48 (ppm) 23 =
# (ppm) 20 <1 <1 pss
ALY (ppm) 10 <5 <5 pss
ZE % (ppm) 10 <2-25 2.0 =
F 1LY (ppm) 5 <5 <5 pss
£ 8o

HEMEA®RY A —
5 (ppm) 5,000 <15 <15 =
AN EHEE .
(ppm) 10 <5-6.1 5.1 =
ikpjnb) +HE R 2 <2 <2 =
% &M 7K (ppm) 1 <1 <1 pss
TCDD (ITEF %) =
(ppb) ! <1 <1 =
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